PBE 1 ARy e HiTIE 2 [n]

(1] XD x§h LOEHDOEE, MEE I WL 620 ?

(1) KZti=1sTvi=10 m/s TH - 7= HEIHED t,=5s Tv.=20 m/s & &7,

(2) Kzl ti=1 s Tv,=-10 m/s TH > 7= HEIHD t,=5 s T v.=-20 m/s & x> 7,
(3) A ;=10 s Tv1=30 m/s TH > 7=FHD t,=70 s Tv.=0m/s £ x> 7,

(4) Bzl t,=5sTvi=20m/s TH-o7=a 7 v F23t,=45 s TVv=-20 m/s £ x> 7=,

2] xEHDIEDH XICHL T, t=0 s12-3 m/s TENHEHE) A
L CW72PiEns, 6 BI23m/s & o7z, NMEEEEIZWL 6527
7. vt 77 7 #ERE X,

[3] t=01Z EME 2 10 m/s THIF 7 R —)Lhs, M C )
LT, 2M%I2-10 m/s %o, NEEEIZWL 650 ? 72,
v-t 79 7 #ERAE X,

Y

[4] F— L ZEEroEPIcEE L, 2B, 5K, 1 OMWROEEIT L 557

* 7075 Y 281 9~25%22->TEL 2
&= K4

Y



